Great

Little

Trading Co.

gltc.co.uk

Sweetheart Dressing Table & Stool Set
L5417, L5507

Assembly Difficulty

¥

easy

. 15/11/2022
two-person job

GLTC Ltd, 12 Buckhold Road, Wandsworth, London, SW 18 4GP, United Kingdom

Thank you for shopping with GLTC, we hope you enjoy having
this product in your home.

We know assembling furniture, toys or accessories is not everyone’s
favourite way to spend their time, so we've tried to make assembling
this item as quick and painless as possible.

A few important pointers before you start:

It might be worth checking on our website that there are no updates
or revisions to these instructions (if we have had helpful feedback from
other customers we pass it on via the product web page). Simply check
the date and version number on the front of this leaflet against that of
any site updates.

Please read the instructions right through before you start, and check
that all the components have been included in the pack; we find
separating all the hardware into piles makes it easier to be sure that
everything is present and correct.

Make sure you have the right tools. Allen keys are provided if required,
but screw drivers and other tools are not. You'll find details of the
tools you need at the beginning of the instructions.

It’s a good idea to build the unit in the room where you are going to be
using it, to avoid the need to move it after it’s been assembled.

Do not throw away any packing materials until assembly is complete,
just in case you accidentally discard smaller parts or hardware.



IMPORTANT! READ CAREFULLY = IMPORTANT! READ CAREFULLY =

KEEP FOR FUTURE REFERENCE. KEEP FOR FUTURE REFERENCE.

SAFETY WARNINGS! SAFETY WARNINGS!
Dressing Table i | Stool
*  Adult assembly required. i | *  This product has been designed, manufactured and tested to comply with BS EN 17191:2021

ting for children.
*  Assembly to be carried out by a competent adult only. seating for chiidren

*  Recommended for children 3 years+ * Aduleassembly required.

*  Not suitable for children under 3 years due to small parts which may become detached and * Unassembled product contains small parts which may present a choking hazard.

present a choking hazard. i | »  Assemble and use on a flat and level surface.
* Inan unassembled state product contains small parts which may pose a choking hazard, not i | »  Children should be kept away from the product during assembly to avoid any possible risk of
suitable for children under 3 years. ; injury.
*  During assembly children should be kept away from the product due to possible risk of injury. i |« This product is suitable for children in the age range of 3 years plus.
* Do not use this item if any components are missing or damaged. i | »  Maximum weight load 30Kg. Do not overload.
*  Assemble and use on a flat and level surface. i | = DO NOT place this product near a window as it can be used as a step by the child and cause
. . o . ) the child to fall out of the window.
DO NOT use power tools in the assembly of this product as there is a risk of over-tightening
and consequently splitting of the wood. H D(?ﬂl:leT place this product near a window where cords from blinds or curtains could strangle
a child.

*  This product is heavy, we recommend that you build it where you are planning to use it.

*  Regularly check all fixtures and fittings to ensure that they properly tightened and tighten as *  Beaware of the risk of open fires and other sources of strong heat in the vicinity of the product.

necessary i |« DO NOT use power tools in the assembly of this product as there is a risk of over-tightening
and consequently splitting of the wood.

*  Check all fixtures and fittings regularly and tighten as necessary.

*  WARNING. Do not use this stool if any part becomes broken, torn or missing. Please contact
GLTC Customer Services on +44 (0) 344 848 6000 or your original retailer immediately to
arrange for suitable replacement parts.

Product care:

Wipe clean using a soft damp cloth followed by a dry cloth.

Do NOT use cleaning products which contain ammonia, solvents or abrasive material.
Do NOT expose the item to extremes of heat and humidity.

Customer Service:

Should}you have any queries regarding your product, missing parts or information and need help
please follow the guidance below.

For gltc.co.uk orders contact GLTC Customer Services on 0344 848 6000. For all other orders
please contact your retailer.

Please read the instructions right through before you start, and check that all the components have
been included in the pack; we find separating all the hardware into piles makes it easier to be sure
that everything is present and correct. Make sure you have the right tools.Allen keys are provided if
required, but screw drivers and other tools are not. You'll find details of the tools you need at the
beginning of the instructions.It’s a good idea to build the unit in the room where you are going to
be using it, to avoid the need to move it after it’'s been assembled. Do not throw away any packing
materials until assembly is complete, just in case you accidentally discard smaller parts or hardware.




IMPORTANT A LIRE
ATTENTIVEMENT - A CONSERVER
POUR REFERENCE FUTURE.

AVERTISSEMENTS DE SECURITE!

Mettre la table.

e Assemblage par un adulte requis.

*  Le montage doit étre effectué par un adulte compétent uniquement.
*  Recommandé pour les enfants de 3 ans et plus

*  Ne convient pas aux enfants de moins de 3 ans en raison de petites pieces qui peuvent se
détacher et présenter un risque d’étouffement.

e Dans un état non assemblé, le produit contient de petites piéces qui peuvent présenter un
risque d’étouffement, ne convient pas aux enfants de moins de 3 ans.

*  Pendant le montage, les enfants doivent étre tenus a I'écart du produit en raison du risque
possible de blessure.

*  Nlutilisez pas cet article si des composants manquent ou sont endommagés.
*  Assemblez et utilisez sur une surface plane et de niveau.

*  NUTILISEZ PAS d’outils électriques pour 'assemblage de ce produit car il y a un risque de
serrage excessif et par conséquent de fendage du bois.

e Ce produit est lourd, nous vous recommandons de le construire la ou vous comptez I'utiliser.

*  Vérifiez régulierement tous les appareils et raccords pour vous assurer qu'ils sont
correctement serrés et serrez si nécessaire

FRA

FRA

IMPORTANT A LIRE
ATTENTIVEMENT - A CONSERVER
POUR REFERENCE FUTURE.

AVERTISSEMENTS DE SECURITE!
Tabouret.

*  Ce produit a été congu, fabriqué et testé conformément a la norme BS EN [7191:2021 sur les
sieges pour enfants.

*  Assemblage par un adulte requis.

*  Le produit non assemblé contient de petites pieces qui peuvent présenter un risque
d’étouffement.

*  Assemblez et utilisez sur une surface plane et de niveau.

*  Les enfants doivent étre tenus a I'écart du produit pendant le montage pour éviter tout risque
de blessure.

*  Ce produit convient aux enfants de 3 ans et plus.
*  Charge maximale 30Kg. Ne pas surcharger.

. NE]PIacez PAS ce produit pres d’une fenétre car il peut étre utilisé comme une marche par
I’enfant et faire tomber I'enfant par la fenétre.

*  NE placez PAS ce produit prés d’'une fenétre ou les cordons des stores ou des rideaux
pourraient étrangler un enfant.

*  Soyez conscient du risque d’incendies a ciel ouvert et d’autres sources de forte chaleur a
proximité du produit.

*  N'UTILISEZ PAS d’outils électriques pour I'assemblage de ce produit car il y a un risque de
serrage excessif et par conséquent de fendage du bois.

*  Vérifiez régulierement toutes les fixations et tous les raccords et resserrez-les si nécessaire.

*  AVERTISSEMENT. N'utilisez pas ce tabouret si une piéce est cassée, déchirée ou manquante.
Veuillez contacter le service clientéle de GLTC au +44 (0) 344 848 6000 ou votre revendeur
d’origine immédiatement pour organiser les pieces de rechange appropriées.

Entretien du produit:

Nettoyez a l'aide d’un chiffon doux et humide, puis d’un chiffon sec. * NE PAS utiliser de produits de
nettoyage contenant de 'ammoniac, des solvants ou des abrasifs. © NE PAS exposer I'article a des
conditions extrémes de chaleur et d’humidité.

Service clientéle:

Pour toute question concernant votre produit, des piéces ou informations manquantes, ou si vous
avez besoin d’aide, suivez la procédure ci-dessous.Pour les commandes gltc.co.uk, contactez le
service clientéle GLTC au 0344 848 6000. Pour toute autre commande, contactez votre revendeur.

Lisez attentivement les instructions avant de commencer et vérifiez que tous les composants sont
inclus dans le colis. Nous vous recommandons de répartir le matérie? en piles pour verifier plus
facilement que tout est présent et correct.Assurez-vous de disposer des bons outils. Les clés Allen
sont fournies si nécessaire, mais pas les tournevis ni les autres outils.Vous trouverez des précisions
sur les outils dont vous avez besoin au début des instructions. Il est recommandé de monter
I'unité dans la piece ou vous allez I'utiliser, afin de ne pas avoir a la déplacer une fois assemblée.

Ne jetez pas les matériaux d’emballage avant d’avoir terminé I'assemblage, au cas ou vous jetteriez
accidentellement des piéces plus petites ou du matériel.




DEU

WICHTIG SORGFALTIG LESEN —
FUR SPATERES NACHSCHLAGEN
AUFBEWAHREN.

SICHERHEITSWARNUNGEN!

Schminktisch.

*  Montage durch Erwachsene erforderlich.

*  Montage nur durch einen sachkundigen Erwachsenen.
e Empfohlen fir Kinder ab 3 Jahren

*  Nicht geeignet fiir Kinder unter 3 Jahren wegen Kleinteilen, die sich I6sen und eine
Erstickungsgefahr darstellen konnen.

*  Im unmontierten Zustand enthalt das Produkt Kleinteile, die eine Erstickungsgefahr darstellen
konnen, nicht geeignet fiir Kinder unter 3 Jahren.

*  Wihrend der Montage sind Kinder wegen moglicher Verletzungsgefahr vom Produkt
fernzuhalten.

*  Verwenden Sie diesen Artikel nicht, wenn Komponenten fehlen oder beschadigt sind.
*  Montieren und verwenden Sie es auf einer flachen und ebenen Oberfliche.

*  Verwenden Sie KEINE Elektrowerkzeuge bei der Montage dieses Produkts, da die Gefahr
besteht, dass das Holz zu fest angezogen wird und folglich splittert.

*  Dieses Produkt ist schwer, wir empfehlen lhnen, es dort aufzustellen, wo Sie es verwenden
mochten.

+  Uberpriifen Sie regelmiBig alle Befestigungen und Beschldge, um sicherzustellen, dass sie richtig
festgezogen sind, und ziehen Sie sie bei Bedarf fest

DEU

WICHTIG SORGFALTIG LESEN —
FUR SPATERES NACHSCHLAGEN
AUFBEWAHREN.

SICHERHEITSWARNUNGEN!
Schemel

*  Dieses Produkt wurde gemaB BS EN 17191:2021 Sitzgelegenheiten fir Kinder entwickelt,
hergestellt und getestet.

*  Montage durch Erwachsene erforderlich.

*  Das nicht zusammengebaute Produkt enthalt Kleinteile, die eine Erstickungsgefahr darstellen
konnen.

. Montieren und verwenden Sie es auf einer flachen und ebenen Oberflache.

. Kinder sollten wahrend der Montage vom Produkt ferngehalten werden, um ein mogliches
Verletzungsrisiko zu vermeiden.

*  Dieses Produkt ist fur Kinder ab 3 Jahren geeignet.
*  Maximale Gewichtsbelastung 30 kg. Nicht iiberladen.

. Stellen Sie dieses Produkt NICHT in der Nihe eines Fensters auf, da es vom Kind als Tritt
verwendet werden kann und dazu fihren kann, dass das Kind aus dem Fenster fallt.

. Stellen Sie dieses Produkt NICHT in der Nahe eines Fensters auf, wo Schniire von Jalousien
oder Vorhangen ein Kind erwiirgen konnten.

*  Beachten Sie die Gefahr von offenem Feuer und anderen starken Hitzequellen in der Nihe des
Produkts.

*  Verwenden Sie KEINE Elektrowerkzeuge bei der Montage dieses Produkts, da die Gefahr
besteht, dass das Holz zu fest angezogen wird und folglich splittert.

*  Kontrollieren Sie regelmaBig alle Befestigungen und Beschlage und ziehen Sie sie bei Bedarf fest.

*  WARNUNG.Verwenden Sie diesen Hocker nicht, wenn ein Teil gebrochen oder zerrissen ist
oder fehlt. Bitte wenden Sie sich umgehend an den GLTC-Kundendienst unter +44 (0) 344 848
6000 oder an lhren Originalhdndler; um geeignete Ersatzteile zu arrangieren

Produktpflege:

Zum Reinigen mit einem weichen, feuchten Tuch und anschlieBend mit einem trockenen Tuch
abwischen.

Verr\:v?nden Sie KEINE Reinigungsprodukte, die Ammoniak, Losungsmittel oder Scheuermittel
enthalten.

Setzen Sie das Produkt NICHT extrem hoher Temperatur oder Feuchtigkeit aus.
Kundendienst:

Sollten Sie Fragen zu lhrem Produkt oder fehlenden Teilen haben und Hilfe benéti%en,folgen Sie bitte
den unten stehenden Anweisungen. Bei Bestellungen von gltc.co.uk wenden Sie sich bitte an den
GLTC-Kundendienst unter +44 (0) 344 848 6000. Fiir alle sonstigen Bestellungen wenden Sie sich
bitte an lhren Handler.

Bitte lesen Sie sich die Anweisungen vor dem Beginn vollstandig durch, und lberprifen Sie, ob

alle Komponenten im Paket enthalten sind. Wir empfehlen, alle Teile in Stapel zu unterteilen. Das
erleichtert die Ubere\l}ijfung, ob alles vorhanden und frei von Mangeln ist Stellen Sie sicher, dass Sie
lber die benotigten Werkzeuge verfiigen. Ein Inbussatz wird bei Bedarf mitgeliefert, Schraubendreher
und andere Werkzeuge jedocﬁ nicht. Einzelheiten zu dem erforderlichen Werkzeug finden Sie

am Anfang der Anleitung. Es empfiehlt sich, das Produkt in dem Raum aufzubauen, in dem Sie es
verwenden werden, damit es nach der Montage nicht mehr beweFt werden muss.Werfen Sie das
Verpackungsmaterial erst weg, sobald der Zusammenbau abgeschlossen ist. Das dient als Sicherheit,
dass Sie nicht versehentlich Teile entsorgen.




ESP

iIMPORTANTE! LEA
CUIDADOSAMENTEY GUARDE
PARA FUTURAS CONSULTAS

ADVERTENCIAS DE SEGURIDAD!

Tocador

*  Requiere ensamblaje por un adulto.

*  El montaje debe ser realizado Unicamente por un adulto competente.
*  Recomendado para nifios a partir de 3 anos.

*  No apto para niflos menores de 3 afos debido a las piezas pequefias que pueden desprenderse
y presentar peligro de asfixia.

*  En estado desarmado el producto contiene piezas pequenas que pueden suponer un peligro de
asfixia, no apto para niflos menores de 3 anos.

*  Durante el montaje, los nifios deben mantenerse alejados del producto debido al posible
riesgo de lesiones.

*  No utilice este articulo si falta algin componente o esta dahado.
*  Ensamble y use en una superficie plana y nivelada.

*  NO utilice herramientas eléctricas en el montaje de este producto, ya que existe el riesgo de
que se apriete demasiado y, en consecuencia, se parta la madera.

*  Este producto es pesado, le recomendamos que lo construya donde planea usarlo.

*  Revise regularmente todos los accesorios y accesorios para asegurarse de que estén bien
apretados y apriete seglin sea necesario

ESP

iIMPORTANTE! LEA
CUIDADOSAMENTEY GUARDE
PARA FUTURAS CONSULTAS

ADVERTENCIAS DE SEGURIDAD!
Heces

*  Este producto ha sido disenado, fabricado y probado para cumplir con la norma BS EN
17191:2021 sobre asientos para nifos.

*  Requiere ensamblaje por un adulto.

*  El producto sin ensamblar contiene piezas pequenas que pueden representar un peligro de
asfixia.

*  Ensamble y use en una superficie plana y nivelada.

*  Los nifios deben mantenerse alejados del producto durante el montaje para evitar posibles
riesgos de lesiones.

*  Este producto es adecuado para nifios a partir de los 3 afos de edad.
*  Peso maximo de carga 30Kg. No sobrecargue.

*  NO coloque este producto cerca de una ventana, ya que el nifio puede usarlo como un escalén
y hacer que se caiga por la ventana.

*  NO coloque este producto cerca de una ventana donde los cordones de las persianas o
cortinas puedan estrangular a un nifo.

*  Tenga en cuenta el riesgo de fuego abierto y otras fuentes de calor intenso en las proximidades
del producto.

*  NO utilice herramientas eléctricas en el montaje de este producto, ya que existe el riesgo de
que se apriete demasiado y, en consecuencia, se parta la madera.

*  Revise todas las instalaciones y accesorios con regularidad y apriételos segin sea necesario.

*  ADVERTENCIA. No use este taburete si alguna pieza se romfe, rasga o falta. Comuniquese
con el Servicio de atencién al cliente de GLTC al +44 (0) 344 848 6000 o con su distribuidor
original de inmediato para coordinar las piezas de repuesto adecuadas.

Cuidado del producto:

Limpie el producto con un pafio suave y himedo seguido de un pafio seco.

NO utilice productos de limpieza que contengan amoniaco, disolventes o material abrasivo.
NO exponga el producto a temperaturas extremas de calor y humedad.

Servicio de atencioén al cliente:

Si tiene alguna pregunta sobre el producto, le faltan piezas o informacién y necesita ayuda, siga las
instrucciones que se indican a continuacion. Para los pedidos de gltc.co.uk, pongase en contacto
con el servicio de atencion al cliente de GLTC llamando al 0344 848 6000. Para el resto de pedidos,
pongase en contacto con su distribuidor.

Antes de empezar, lea las instrucciones y compruebe que el paquete incluye todos los componentes.
Recomendamos que los separe en grupos para que le resulte mas facil asegurarse de que no falta
nada.Aseglrese de que dispone de las herramientas adecuadas. Incluimos Ilaves Allen por si las
necesita, pero no destornilladores ni otras herramientas. Encontrara los detalles de las herramientas
gue necesita al principio de las instrucciones. Recomendamos montar la unidad en la habitacién

onde vaya a usarse para evitar la necesidad de moverla después de haberla montado. No tire ningin
material de embalaje hasta que no esté montada por completo, por si accidentalmente desecha
alguna pieza o accesorio pequefio.




Component Check List

Component Check List

x| Stool Upstand

H

[

[

x| Stool Top Panel

B
Lo 1]
_ ‘
o o o ‘
[ S S B |
x| Dresssing Table Top x| Storage Side Panel
D
5 5 s ]
[9) o [9) |
x| Storage Side Panel x| Storage Base Panel
F

x4 Table Legs

x| Mirror Panel/Lid

x4 Stool Legs




Component Check List

#1 #2
4x Wooden Dowels 6)(255:1r:zvs
#3 &
© o ©
| 4>|<4?:;T_W5 | 6x Washers
#5 #6
16x Bol
s)émf;ts 2x Hinges
#7 -
a—a P
R =]

Ix Safety Hinge

4 x Screws
| ImmL

Component Check List

#9

@ [y

#10

O |

2x Screws
40mmL 1 6x Split Washers
You will need:
Q (not included)
| x Allen Key Philips Head Screwdriver

You will need:
(not included)

Smaller Head / Thinner
Philips Head Screwdriver




Hardware for Step I:

% STEP 2:

Attach the storage base panel (D) to the dressing table top with x6 screws (#3).
4x #| Wooden Dowels

@© [

6x #2 Screws 25mmL

#2
Note: There are 2 small drill holes on the inside of
panel C, please ensure they are positioned closest 3 #2
to the back of the table. |

Hardware for Step 2:
STEP I:

Insert x4 wooden dowels (#1) to the underside of table top (A). Slot storage side @ [
panels (B) and (C) to table top panel as shown and affix with x6 screws (#2). 6x #3 Screws |4mmL



Hardware for Step 3: STEP 4:

© [ Stand the dressing table on its feet and attach the mirror panel (F) using 2x hinges (#6)

and 8x screws (#3) with the thinner screwdriver.
8x #5 42mmL Bolts

©

8x #4 Flat Washers 7\x -

#5 #10 #4

Ol —

8x #10 Split Washers | #5 #10 #4

il
\ |

\\ |
v
-
E ¥
Al
\
E
E ® o & Y \\
/ Gy o
| ¢
> /
> E \\ . . //
Hardware for Step 4:
8x #3 Screws 14mmL
STEP 3: [0 o]
Attach the dressing table legs (E ) to the table top.Thread a split washer (#10) then a 5 [ o]
flat washer (#4) to each bolt (#5) and tighten with the allen key provided. Repeat until 2x #6 Hinges

all legs are secured.



STEP 5: Hardware for Step 6:
Attach the safety hinge (#7) with x4 screws (#8). @ Hmmmmmmmm

Check to make sure the safety hinge is correctly installed by moving the dressing table 8x #5 42mmL Bolts
lid up and down.When you let go of the lid it should stop, not fall or slam shut. :

8x #4 Flat Washers

sx#mggshem *x N

#5 #10 #4

Hardware for Step 5:

© [

4x #8 Screws | ImmL STEP é6:
e Attach the stool legs (1) to the underside of the seat panel (H).Thread a split washer
& P\a (#10) then a flat washer (#4) to each bolt (#5) and tighten with the allen key provided.
o = Repeat until all legs are secured.

I x #7 Safety Hinge



STEP 7: . STEP8:
Secure the stool upstand panel (G) to the stool using x2 screws (#9). Carefully remove the protective film from the mirror.

Your item is ready to use.

from safety mirror

\\H
) ‘ | Remove the protective film

Hardware for Step 7:

@ [

2x #9 Screws 40mmL

m Copyright© 2023 G.L.T.C. Ltd.All rights reserved.
Great Little Trading Company and GLTC are registered trade marks of G.L.T.C. Limited.



